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NEW QUESTION 1

- (Exam Topic 2)

You are running a data warehouse on BigQuery. A partner company is offering a recommendation engine based on the data in your data warehouse. The partner
company is also running their applica-tion on Google Cloud. They manage the resources in their own project, but they need access to the BigQuery dataset in your
project. You want to provide the partner company with access to the da-taset. What should you do?

A. Ask the partner to create a Service Account in their project, and have them give the Service Account access to BigQuery in their project.

B. Create a Service Account in your own project, and grant this Service Account ac-cess to BigQuery in your project.

C. Create a Service Account in your own project, and ask the partner to grant this Service Account access to BigQuery in their project.

D. Ask the partner to create a Service Account in their project, and grant their Service Account access to the BigQuery dataset in your project.

Answer: D

Explanation:
- if the need is to authenticate the application to access your dataset, it's the application's serice account that will be provided during the authentication, so the
service account is to be created at their side to run the application

NEW QUESTION 2
- (Exam Topic 2)
Keeping Flavours of Apigee in mind, which of the following statements is/are correct?

A. A hybrid version consisting of a runtime plane installed on-premises or in a cloud provider of your choice, and a management plane running in Apigee's clou
B. In this model, API traffic and data are confined within your own enterprise-approved boundaries.

C. A hosted Saas version in which Apigee maintains the environment, allowing you to concentrate on building your services and defining the APIs to those
services.

D. There are two types of Flavours in Apigee i.

E. Apigee & Apigee Hybrid.

F. All of the above are correct.

Answer: D
Explanation:

Flavors of Apigee

Apigee comes in the following flavors:

Apigee: A hosted SaaS version in which Apigee maintains the environment, allowing you to concentrate on building your services and defining the APIs to those
services.

Apigee hybrid: A hybrid version consisting of a runtime plane installed on-premises or in a cloud provider of your choice, and a management plane running in
Apigee's cloud. In this model, API traffic and data are confined within your own enterprise-approved boundaries.

NEW QUESTION 3

- (Exam Topic 2)

A startup client of yours does offline data processing for a few of its clients. They are mi-grating their applications and the associated data to Google Cloud. They
have 100TB of data to move. They presently have a very small private data center setup connected to a local internet provider. The maximum bandwidth they are
able to get is 100Mbps. How long will it take them to transfer the data over the internet if the transfer goes smoothly?

A. About 12 days.
B. About 2 years.
C. About 100 days.
D. About 24 hours.

Answer: C

Explanation:

The key reason | included this question is to clarify some terminologies that will be important for your estimates. The data size mentioned is a TB terabyte. Note
the "byte". The speed is mentioned in Mbps, which is Megabits per second. Note the "bits". 8 bits make a byte. So, to get the actual number of bits transferred, you
need to multiply the TB number by 8.

Total data transferred (in bits) = 100 * 1,000,000,000,000 * 8 bits

Speed = 100Mbps = 100 * 1,000,000. i.e. 100 million bits are transferred per second. Hence time taken to transfer all the data = Total Data/Speed = 8,000,000
seconds. Number of seconds in a day = 24*60*60 = 86,400

Total time taken in days = 8,000,000/86,400 = 92.59 days

Reference link

- https://cloud.google.com/architecture/migration-to-google-cloud-transferring-your-large-datasets#online_ver

NEW QUESTION 4

- (Exam Topic 2)

Which of the following storage options should you use when your company is using Cloud Storage to store application backup files for disaster recovery purposes,
provided you want to follow Goog-le's recommended practices.

A. Multi-Regional Storage
B. Coldline storage

C. Nearline Storage

D. Regional Storage

Answer: B

Explanation:
Coldline storage is a very low cost highly durable storage service for data archiving, online backup, and disaster recovery. Coldline storage is the best choice for
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data that you plan to access at most once a year due to its slightly lower availability, 90 day minimum storage duration cost for data access, and higher per
operation costs.
Nearline and Coldline are for backup and archival storage and having the highest availability for both with 99.9 percent.

NEW QUESTION 5

- (Exam Topic 2)

A customer has a tens of applications that are dependent on Oracle databases in their on-premise data centers. The customer wants to migrate to Google Cloud.
Their long term goal is to move to other cloud native database technologies. What options do they have to initially move their data?

A. Migrate to a Bare Metal server.

B. Migrate to Cloud SQL.

C. Since there is no hosted Oracle solution, leave the Oracle data on-premise while doing analytics on Google Cloud.
D. Containerize Oracle and run it using Cloud Run.

Answer: B
Explanation:

The Bare Metal solution is the recommended approach. You can deploy Oracle capabilities like clustered databases, replication, and all performance features at
licensing costs that are similar to on-premise systems

Choose a Google Cloud bare metal migration
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https://cloud.google.com/architecture/migrating-bare-metal-workloads

NEW QUESTION 6

- (Exam Topic 2)

App Engine has been deployed in your customers GCP cloud deployment. The customer would like to know more about the benefits of App Engine Flexible.
Please advise them on the benefits of App Engine Flexible (Select Two Answers)

A. Supports autoscaling

B. Supports Docker containers

C. Supports mainframe connectivity

D. Source code is written in specific versions of the supported programming lan-guages only

Answer: AB

Explanation:

Autoscaling is supported in both Flexible and Standard environments. Flexible Environment does run a Docker container that includes a custom runtime or source
code written in other programming languages.

Reference link - https://cloud.google.com/appengine/docs/the-appengine-environments

NEW QUESTION 7

- (Exam Topic 2)

A large travel company has thus far invested heavily in their technology team. There is strategic pressure on the company to focus on their core business and
innovate to survive in certain geogra-phies and thrive in others. They are evaluating whether a move to Google Cloud will be good for them. Which of these
reasons would be relevant for them? (choose two answer)

A. Application architecture won't be too involved because of serverless options.

B. The IT team won't have to manage software upgrades, security patches, et

C. for the VMs.

D. The IT team won't have to work on procuring and provisioning new hardware and refreshes to existing hardware.
E. Budgeting won't be an issue since the cloud takes care of billing.

Answer: BC

NEW QUESTION 8

- (Exam Topic 1)

Your large and frequently changing organization’s user information is stored in an on-premises LDAP database. The database includes user passwords and group
and organization membership.

How should your organization provision Google accounts and groups to access Google Cloud resources?
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A. Replicate the LDAP infrastructure on Compute Engine

B. Use the Firebase Authentication REST API to create users
C. Use Google Cloud Directory Sync to create users

D. Use the Identity Platform REST API to create users

Answer: C

Explanation:

You can run a single instance of Google Cloud Directory Sync to synchronize user accounts and groups to Google Cloud.

Reference: https://cloud.google.com/architecture/identity/federating-gcp-with-active-directory-introduction Text Description automatically generated
https://support.google.com/a/answer/106368?hl=en

NEW QUESTION 9

- (Exam Topic 1)

A fithess band company is continuously ingesting data from millions of its consumers. Different kinds of data based on time, like location, heartbeat rate,
temperature, movement, etc. are connect-ed. They need a high throughput database that can write data very fast. Since their users are spread across the world,
they need the database to be geographically scalable. Consumers also want to see near-real-time visualizations of their activities. Which of these databases would
be a good fit?

A. Cloud SQL
B. Bigtable
C. Spanner
D. Firestore

Answer: B

Explanation:
Bigtable is the best suited for time series data. It also has high read-write throughput and ability to scale globally.

NEW QUESTION 10

- (Exam Topic 1)

Your organization is releasing its first publicly available application in Google Cloud. The application is critical to your business and customers and requires a
2-hour SLA.

How should your organization set up support to minimize costs?

A. Enroll in Premium Support

B. Enroll in Enhanced Support
C. Enroll in Standard Support

D. Enroll in Basic Support

Answer: B

Explanation:

Reference: https://www.secureauth.com/enhanced-support-offering/

SecureAuth is dedicated to providing the industry-leading enhanced support ensuring the long term success of your SecureAuth SaaS IAM deployment
Text Description automatically generated

NEW QUESTION 10

- (Exam Topic 1)

You are migrating workloads to the cloud. The goal of the migration is to serve customers worldwide as quickly as possible According to local regulations, certain
data is required to be stored in a specific geographic area, and it can be served worldwide. You need to design the architecture and deployment for your
workloads.

What should you do?

A. Select a public cloud provider that is only active in the required geographic area

B. Select a private cloud provider that globally replicates data storage for fast data access

C. Select a public cloud provider that guarantees data location in the required geographic area
D. Select a private cloud provider that is only active in the required geographic area

Answer: C

Explanation:
The goal of the migration is to serve customers worldwide as quickly as possible According to local regulations, certain data is required to be stored in a specific
geographic area, and it can be served worldwide" This characteristic are inherent to the public cloud provider

NEW QUESTION 14

- (Exam Topic 1)

Your organization runs an application on virtual machines in Google Cloud. This application processes incoming images. This activity takes hours to create a result
for each image. The workload for this application normally stays at a certain baseline level, but at regular intervals it spikes to a much greater workload. Your
organization needs to control the cost to run this application.

What should your organization do?

A. Purchase committed use discounts for the baseline load

B. Purchase committed use discounts for the expected spike load
C. Leverage sustained use discounts for your virtual machines

D. Run the workload on preemptible VM instances

Answer: C
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Explanation:
The idea of the Sustained Use discount is that the longer you run a VM instance in any given month, the bigger discount you will get from the list price.
Reference: https://www.parkmycloud.com/blog/google-sustained-use-discounts/

NEW QUESTION 18

- (Exam Topic 1)

Your organization uses Active Directory to authenticate users. Users’ Google account access must be removed when their Active Directory account is terminated.
How should your organization meet this requirement?

A. Configure two-factor authentication in the Google domain

B. Remove the Google account from all IAM policies

C. Configure BeyondCorp and Identity-Aware Proxy in the Google domain
D. Configure single sign-on in the Google domain

Answer: D

Explanation:

Configure single sign-on in the Google domain

Single sign-on: Whenever a user needs to authenticate, Google Cloud delegates the authentication to Active Directory by using the Security Assertion Markup
Language (SAML) protocol. This delegation ensures that only Active Directory manages user credentials and that any applicable policies or multi-factor
authentication (MFA) mechanisms are being enforced. For a sign-on to succeed.

Federating Google Cloud with Active
Directory

https://cloud.google.com/architecture/identity/federating-gcp-with-active-directory-introduction
Reference Link- https://cloud.google.com/architecture/identity/single-sign-on

NEW QUESTION 19

- (Exam Topic 1)

Your company security team manages access control to production systems using an LDAP directory group. How is this access control managed in the Google
Cloud production project?

A. Assign the proper role to the Service Account in the project's IAM Policy

B. Grant each user the roles/iam.serviceAccountUser role on a service account that exists in the Google Group.
C. Assign the proper role to the Google Group in the project's IAM Policy.

D. Create the project in a folder with the same name as the LDAP directory group.

Answer: C

Explanation:

Reference:
https://cloud.google.com/blog/products/identity-security/achieving-identity-and-access-governance-on-google-c
Text, letter Description automatically generated

NEW QUESTION 21

- (Exam Topic 1)

Your organization runs many workloads in different Google Cloud projects, each linked to the same bhilling account. Each project's workload costs can vary from
month to month, but the overall combined cost of all projects is relatively stable. Your organization needs to optimize its cost.

What should your organization do?

A. Purchase a commitment per project for each project’s usual minimum

B. Create a billing account per project, and link each project to a different billing account

C. Turn on committed use discount sharing, and create a commitment for the combined usage
D. Move all workloads from all different projects into one single consolidated project

Answer: C

Explanation:
Turn on committed use discount sharing, and create a commitment for the combined usage
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Sharing your committed use discounts across all your projects reduces the overhead of managing discounts on a per-project basis, and maximizes your savings by
pooling all your discounts across your projects' resource usage. If you have multiple projects that share the same Cloud Billing account, you can enable committed
use discount sharing so all of your projects within that Cloud Billing account share all of your committed use discount contracts. Your sustained use discounts are
also pooled at the same time. That is, sustained use discounts are calculated using the total resources across these projects, rather than just the resources within

a single project.
Text Description automatically generated

Sharing committed use discounts across projects

=

Sharing your committed use discounts across all your projects reduces the overhead of managing discounts on a per
praject basis, and maximizes your savings by pooling all your discounts across your projects resource usage
If you have multiple projects that share the same Cloud Billing account, you can
ga all of your proje nin that Cloud Billing accou are all o i com ed use discount contracts. You
sustained use discounts are also pocled at the same time. Tha stained use discounts are calculated using the tota
esources across these projects, rather than just the resource ingle proje
For example, | urchase two commitmen acts for a total of 160 cores, and you run 200 cores du
maon receve commitied use disCounts 160 cores across the projects that used them, The a

res ¢ bllled at on-demand, non-committed use rates. After you purchase a set amount of commitments, you're
billed for those commitments monthly, even if you dont use them. For example, if you purchase commitments for 160
cores, you're billed the committed use rates for those 160 cores for the whole month, even if don't use them. See

st-saving utilization recommendatio

Reference link
- https://cloud.google.com/compute/docs/instances/signing-up-committed-use-discounts#sharing_committed_u

NEW QUESTION 26
- (Exam Topic 1)

Your team is publishing research results and needs to make large amounts of data available to other researchers within the professional community and the public

at minimum cost.
How should you host the data?

A. Use a Cloud Storage bucket and enable "Requester Pays.'

B. Use a Cloud Storage bucket and provide Signed URLSs for the data files.

C. Use a Cloud Storage bucket and set up a Cloud Interconnect connection to allow access to the data.
D. Host the data on-premise

E. and set up a Cloud Interconnect connection to allow access to the data.

Answer: A

Explanation:

Enabling Requester Pays is useful, for example, if you have a lot of data you want to make available to users, but you don't want to be charged for their access to

that data.
Reference link- https://cloud.google.com/storage/docs/requester-pays

NEW QUESTION 30
- (Exam Topic 1)

Your organization needs to ensure that the Google Cloud resources of each of your departments are segregated from one another. Each department has several

environments of its own: development, testing, and production. Which strategy should your organization choose?

A. Create a project per department, and create a folder per environment in each project.

B. Create a folder per department, and create a project per environment in each folder.

C. Create a Cloud Identity domain per department, and create a project per environment in each domain.
D. Create a Cloud Identity domain per environment, and create a project per department in each domain.

Answer: B

Explanation:
Text Description automatically generated

Folders are nodes in the Cloud Platform Resource Hierarchy. A folder can contain projects, other folders, or a

o

combination of both. Organizations can use folders to group projects under the organization node in a

hierarchy. For example, your organization might contain multiple departments, each with its own set of Google

Cloud resources, Folders allow you to group these resources on a per-department basis. Folders are used to
group resources that share common IAM policies. While a folder can contain multiple folders or resources, a
given folder or resource can have exactly one parent

Text Description automatically generated
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Reference link- https://cloud.google.com/resource-manager/docs/creating-managing-folders
Reference linkhttps://stackoverflow.com/questions/59460623/how-to-create-a-folder-a-project-under-it-with-deployment-ma

NEW QUESTION 31

- (Exam Topic 1)

Your organization stores highly sensitive data on-premises that cannot be sent over the public internet. The data must be processed both on-premises and in the
cloud.

What should your organization do?

A. Configure Identity-Aware Proxy (IAP) in your Google Cloud VPC network
B. Create a Cloud VPN tunnel between Google Cloud and your data center
C. Order a Partner Interconnect connection with your network provider

D. Enable Private Google Access in your Google Cloud VPC network

Answer: C

Explanation:
After the service provider provisions your connection, you can start passing traffic between your networks by using the service provider's network.
Reference: https://cloud.google.com/network-connectivity/docs/interconnect/concepts/partner-overview

NEW QUESTION 36

- (Exam Topic 1)

A retall store has discovered a cost-effective solution for creating self-service kiosks. They can use existing check-out hardware and purchase a virtual customer
service application. Why do they also need an API?

A. To connect the check-out hardware to the public cloud.
B. To connect the new application with the legacy system.
C. To migrate all customer data for disaster recovery.

D. To update the check-out hardware remotely.

Answer: B

Explanation:
APIs can create new business value by connecting legacy systems (the checkout hardware) with new software (the virtual customer service application).

NEW QUESTION 38

- (Exam Topic 1)

Your team is using BigQuery as your central data warehouse. You are running a certain workload that you've run frequently over the last few days. It is a short,
high capacity ana-lytics workload. Which of the following would be an appropriate pricing model to use?

A. There is no need for any pricing model the first 1 TB of query data processed per month is free.
B. On-demand pricing

C. Flex Slots

D. Flat-rate reservations

Answer: C
Explanation:

Option A is Correct- BigQuery Flex Slots for cyclical workloads that require extra capacity, or for workloads that need to process a lot of data in a short time, and so
would be less expensive to run using reserved slots for a short time.
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NEW QUESTION 41

- (Exam Topic 1)

Your customer is making a decision on whether to move to Google Cloud. Their key concern is about 10,000 VMs that are part of their IT infrastructure used
across more than 110 applications. They are apprehensive of too many changes at this stage. They want to get to Google Cloud in the easiest way possible with
minimal disruption. What option would you recommend for them?

A. Use Migrate for Anthos

B. Lift and shift the VMs to serverless options like App Engine Flex.

C. Re-architect on-prem to use Kubernetes and then slowly extend and bridge the on-prem data center to the Google Cloud data center.
D. Use Migrate for Compute

Answer: D

Explanation:

Migrate for Compute Engine’s advanced replication migration technology copies instance data to Google Cloud in the background with no interruptions to the
source workload that’s running.

Text Description automatically generated
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https://cloud.google.com/migrate/compute-engine

NEW QUESTION 42

- (Exam Topic 1)

A Multiple projects within your organization have long-term VM usage. Based on current demand, they are able to project into the future and estimate how many
VM hours they will use every year. Going in for a committed use contract seems sensible. How can you configure committed use easily across all the projects?

A. Enable committed use with discount sharing for the projects

B. Review the usage of resources by each project on a daily basi

C. Enable committed use for the following day based on that number, so that it gives maximum granularity without wastage.
D. Take a report of each project's use in the last yea

E. Enable committed use on a per-project basis based on the previous year's numbers.

F. Share a Google Sheet and request each project team to send in their estimat

G. Enable committed use accordingly on a per-project basis.

Answer: A

Explanation:

Enable committed use discounts are applied to the project from which you purchased it. To share the discount across multiple projects linked to your Cloud Billing
account, enable committed use discount sharing from the console. When you enable committed use discount sharing, all of your current active committed use dis-
counts in all the projects under the same Cloud Billing account, including those you previously purchased and new ones you purchase in the future are shared
across your Cloud Billing account. Your sustained use discounts are also pooled and shared across all projects within your Cloud Billing account.

NEW QUESTION 43

- (Exam Topic 1)

Your ed-tech start-up was originally launched in a small geography. Any user sign-ups, course progress, tests taken, etc. are captured on a self-managed MySQL
database. Every user generates many such transactions. Now you're taking the application globally and preparing for a much larger influx of users from all over the
world. The existing MySQL server is unlikely to be able to scale. Which convenient option can be considered?

A. Migrate to BigQuery

B. Migrate to Cloud Spanner
C. Migrate to Cloud SQL

D. Migrate to Bigtable

Answer: B

Explanation:
Cloud Spanner is a global scale SQL database that scales extremely well. That would be the best choice.

NEW QUESTION 44

- (Exam Topic 1)

An 10T platform is providing services to home security systems. They have more than a million customers, each with many home devices. Burglaries or child safety
issues are concerns that the clients customers. Therefore, the platform has to respond very quickly in near real time. What could be a typical data pipeline used to
support this platform on Google Cloud?

A. Cloud Pub/Sub, Cloud Dataflow, Data Studio

B. Cloud Functions, Cloud Dataproc, Looker
C. Cloud Pub/Sub, Cloud Dataflow, BigQuery
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D. Cloud Functions, Cloud Dataproc, BigQuery
Answer: A

Explanation:

=> Cloud Pub/Sub- Cloud Pub/Sub is the best to be the end-point for ingesting large amounts of data. It will grow as required, can stream data to downstream
systems, and can also work with intermittently available backends.

=> Cloud Dataflow- supports streaming data and therefore is an appropriate option for processing the data that is ingested.

=> BigQuery- BigQuery also supports streaming data and its possible to do real time ana-lytics on it.

=> DataStudio- DataStudio and Looker are for visualization. They don't have any in-built analysis.

=> Cloud Functions- Cloud Functions is a useful serverless endpoint. However, Pub/Sub is better in this case because it can also retain messages for a set period
if it was not possi-ble to deliver it first time.

=>Cloud Dataproc- Cloud Dataproc is used for Hadoop/Spark workloads and won't be a good fit here.

NEW QUESTION 48
- (Exam Topic 1)
What would provide near-unlimited availability of computing resources without requiring your organization to procure and provision new equipment?

A. Public cloud
B. Containers

C. Private cloud
D. Microservices

Answer: A

Explanation:
Reference: https://cloud.google.com/docs/overview

NEW QUESTION 49

- (Exam Topic 1)

Your organization is defining the resource hierarchy for its new application in Google Cloud. You need separate development and production environments. The
production environment will be deployed in Compute Engine in two regions. Which structure should your organization choose?

A. Create a single project for all environment

B. Use labels to segregate resources by environment.

C. Create a single project for all environment

D. Use tags to segregate resources by environment.

E. Create one project for the development environment and one project for the production environment.

F. Create two projects for the development environment and two projects for the production environment (one for each region).

Answer: C

Explanation:

Many organizations have separate development and production environments so they can build and test new features without disturbing production traffic. In
Optimizely, you can create separate projects for each environment to help with governance.

With separate development and production projects, your organization can safely build and QA experiments and Personalization campaigns in a development
environment before deploying to production. This approach allows multiple stakeholders in your organization to act as gatekeepers for running new experiments in
production.

Graphical user interface, text Description automatically generated with medium confidence

Set up projects

First, you'll start by creating two new projects: one for development and one for production. Each project will need its own snippel
1.Create 2 fOr your gevelopment nvironment
2. Impiement the snippef in the head tag for thal envingnment
A0 EDOIALNS W YOU ke 10 Nave 3CCESS 10 YOUr develdpment projs
4. NEXT, CTEaie 3 roject hor your progucton environment
3. mplernent the production project snigpel in e head i30 of (he production envirenmen
6. Add cofiaborators who you'd like to have access 10 your production projet

Reference linkhttps://support.optimizely.com/hc/en-us/articles/4410284353805-Set-up-projects-for-development-and-produc

NEW QUESTION 53

- (Exam Topic 1)

Which of the following is/are true about Anthos?

A. Enterprise-grade container orchestration and management service.
B. Modernizing your security for hybrid and multi-cloud deployments
C. Fully managed service mesh with built-in visibility

D. All of the Above

Answer: D

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version Cloud-Digital-Leader Questions & Answers shared by Certleader
CertLeader: ‘ g Q y

Toader of IT Cortifications https://www.certleader.com/Cloud-Digital-Leader-dumps.html (304 Q&As)

Explanation:

Anthos :

Anthos unifies the management of infrastructure and applications across on-premises, edge, and in multiple public clouds with a Google Cloud-backed control
plane for consistent operation at scale.

- Build, deploy, and optimize apps on GKE and VMs anywhere—simply, flexibly, and securely.

- Consistent development and operations experience for hybrid and multi-cloud environments.

Key features:

* 1. Enterprise-grade container orchestration and management service

* 2. Automate policy and security at scale

* 3. Fully managed service mesh with built-in visibility

* 4. Modernizing your security for hybrid and multi-cloud deployments

NEW QUESTION 57

- (Exam Topic 1)

Your organization offers public mobile apps and websites. You want to migrate to a Google Cloud-based solution for checking and maintaining your users’
usernames and passwords and controlling their access to different resources based on their identity.

Which should your organization choose?

A. VPN tunnels

B. Identity Platform

C. Compute Engine firewall rules
D. Private Google Access

Answer: B

Explanation:

An identity platform is a modern solution for managing the identities of users and devices in a centralized fashion.
Reference:
https://www.okta.com/blog/2021/07/what-is-an-identity-platform/#:~:text=An%20identity%20platform%20is%
Text Description automatically generated

NEW QUESTION 59

- (Exam Topic 1)

Your organization needs to restrict access to a Cloud Storage bucket. Only employees who are based in Canada should be allowed to view the contents.
What is the most effective and efficient way to satisfy this requirement?

A. Deploy the Cloud Storage bucket to a Google Cloud region in Canada

B. Configure Google Cloud Armor to allow access to the bucket only from IP addresses based in Canada
C. Give each employee who is based in Canada access to the bucket

D. Create a group consisting of all Canada-based employees, and give the group access to the bucket

Answer: D

Explanation:
Reference: https://cloud.google.com/storage/docs/access-control
Because you can use your own private VPN to access the Canada-only bucket from anywhere in the world.

NEW QUESTION 63

- (Exam Topic 1)

Which of the following NIST Cloud characteristics uses the business model of shared re-sources in a cloud
environment?

A. Elasticity

B. Availability

C. Broad Network Access
D. Multi-Tenancy

Answer: D
Explanation:

In cloud computing, multitenancy means that multiple customers of a cloud vendor are using the same computing resources. Even though they share resources,
cloud customers aren’t aware of each other, and their data is kept totally separate. Mul-titenancy is a crucial component of cloud computing; without it, cloud
services would be far less practical. Multitenant architecture is a feature in many types of public cloud

com-puting, including laaS, PaaS, SaaS, containers, and serverless computing.

NEW QUESTION 66

- (Exam Topic 1)

Your organization is building an application running in Google Cloud. Currently, software builds, tests, and regular deployments are done manually, but you want to
reduce work for the team. Your organization wants to use Google Cloud managed solutions to automate your build, testing, and deployment process.

Which Google Cloud product or feature should your organization use?

A. Cloud Scheduler

B. Cloud Code

C. Cloud Build

D. Cloud Deployment Manager

Answer: C
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Explanation:

Deploy your application to App Engine using the gcloud app deploy command. This command automatically builds a container image by using the Cloud Build
service and then deploys that image to the App Engine flexible environment.

Reference: https://cloud.google.com/appengine/docs/flexible/nodejs/testing-and-deploying-your-app

NEW QUESTION 69

- (Exam Topic 1)

An organization with hybrid cloud architecture wants to build an application once and be able to run it both on-premises and in their public cloud. Which Google
Cloud solution should the organization use?

A. Cloud Functions
B. App Engine

C. Compute Engine
D. Anthos

Answer: D

Explanation:
Anthos allows organizations to build an application once and run it anywhere.

Migrate directly from VMs, Build, deploy, and optimize apps on GKE, Anthos serverless landing zones and VMs anywhere-simply, flexibly, and securely
Axpilcture containing text Description automatically generated

Reference Link- https://cloud.google.com/anthos

NEW QUESTION 72

- (Exam Topic 1)

Your application has repeated data requests of the exact same nature. At the same time, the number of user requests is increasing. Monitoring indicates that the
load on the existing database is increasing, and there seems to be a bottleneck. An analysis of the data requested shows us that it is application-managed data
and that it changes, but not often. How can you improve the efficiency of the application?

A. Use Cloud Memorystore to improve speed via caching

B. Increase the amount of RAM on the machine hosting the database so that it has higher data throughput.
C. Use Cloud Storage with multi-regional storage so that all users accessing the data will have lower latency
D. Increase the number of CPUs on the machine hosting the database so that it has higher data throughput.

Answer: A

Explanation:
Cloud Memorystore is an in-memory database that has sub-millisecond latency. This is ideal for caching application data that also changes once in a while.
https://cloud.google.com/memorystore

NEW QUESTION 75

- (Exam Topic 1)

Which Google Cloud product gives you a consistent platform for multi-cloud application deployments and extends other Google Cloud services to your
environment?

A. Google Kubernetes Engine
B. Virtual Public Cloud

C. Compute Engine

D. Anthos

Answer: D

Explanation:
Graphical user interface, text, application Description automatically generated
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Anthos

Try it free

https://cloud.google.com/anthos

NEW QUESTION 78
- (Exam Topic 3)
What is artificial intelligence?

A. Any system that ingests data in real time

B. Any system that automatically structures data

C. Any system capable of a task that requires smart analytics to generate predictions
D. Any system capable of a task that normally requires human cognition

Answer: D

NEW QUESTION 82
- (Exam Topic 3)
An organization relies on online seasonal sales for the majority of their annual revenue. Why should the organization use App Engine for their customer app?

A. Automatically adjusts physical inventory in real time
B. Autoscales during peaks in demand

C. Runs maintenance during seasonal sales

D. Recommends the right products to customers

Answer: B

NEW QUESTION 86
- (Exam Topic 3)
How does a large hotel chain benefit from storing their customer reservation data in the cloud?

A. On-premises hardware access to transaction data

B. Real-time data transformation at scale within an on-premises database
C. Real-time business transaction accuracy at scale

D. Physical hardware access during peak demand

Answer: C

NEW QUESTION 89
- (Exam Topic 3)
Which policy helps Google Cloud keep customer data private?

A. Google tests the service availability of customer applications.
B. Google does not use customer data for advertising purposes.
C. Google migrates customer data to an offline server when a threat is detected.
D. Google does not allow customers to change encryption keys.

Answer: B

NEW QUESTION 92

- (Exam Topic 2)

You are a program manager in a company and handling a project and you need to create a virtual machine on google cloud console that will be very simple to set
up, by flipping a bit via command, API, or with developer console that gives you 30 seconds to shut down when you're preempted, allow you to save your work
that also helps in the company budget upto 70-80% of less charges than the regular VMs.

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version Cloud-Digital-Leader Questions & Answers shared by Certleader
CertLeader: ‘ g Q y

Toader of IT Cortifications https://www.certleader.com/Cloud-Digital-Leader-dumps.html (304 Q&As)

A. Bare Metal Solutions

B. Preemptible Virtual Machines.
C. Google Cloud VM Instances
D. None of the above.

Answer: B

Explanation:

Preemptible VMs have all these features

Simple configuration

Create a preemptible instance simply by flipping a bit via command, API, or developer console.

Easy extensibility

Attach GPUs and local SSDs to preemptible instances for additional performance and savings.

Graceful shutdown

Compute Engine gives you 30 seconds to shut down when you're preempted, letting you save your work in progress for later.
Large scale computing

Spin up as many instances as you need and turn them off when you're done. You only pay for what you use.

Quickly reclaim capacity

Managed instance groups automatically recreate your instances when they're preempted (if capacity is available).

Fixed pricing

Preemptible VMs have fixed pricing up to 80% off regular instances. They show up on your bill separately so you'll see just how much you're saving.

NEW QUESTION 95

- (Exam Topic 2)

Your customer is moving from AWS to Google Cloud. Data also needs to be moved. There is about 50TB of data. On AWS, the data resides in an S3 bucket. It is
going to be moved to Cloud Storage. Data is also being continuously generated on S3 prior to the cutover. It is preferable that this is also periodically transferred.
What is the best way to move the data?

A. Use the gsutil command-line option

B. Use the Google Cloud console to drag and drop the files easily
C. Use the Storage Transfer Service

D. Use a Transfer Appliance

Answer: C

Explanation:

Storage Transfer Service provides options that make data transfers and synchronization easier. We can also schedule one-time transfer operations or recurring
transfer operations.

Text Description automatically generated
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Storage Transfer Service is a product that enables you to

M e R e e e R R o i ool
& SMNE e nar| Rrenra 1 i A 0ata ] a1 asaa
AR R IRMER L 2y LTI R Me QA | LIFE o al Ji RS L 3 Rk

id the times of day w orafer to import data

Reference link- https://cloud.google.com/storage-transfer/docs/overview
Reference linkhttps://cloud.google.com/architecture/transferring-data-from-amazon-s3-to-cloud-storage-using-vpc-service-c

NEW QUESTION 100

- (Exam Topic 2)

You are discussing scaling requirements with a gaming company. When the game launches, they are expecting incoming data surges of 2 million users or more
during weekends and holidays. Their on-premise systems have had issues scaling and they want your advice on solving the issue. What do you recommend?

A. Either Compute Engine VMs or Kubernetes nodes work, but it is better to keep a buffer of an extra 2 million users.
B. We can deploy a Pub/Sub to ingest data which will grow to absorb demand and pass it on to other stages.

C. We will allocate Compute Engine VMs estimating 80% capacity of 2 million users.

D. We will allocate Kubernetes nodes estimating 80% capacity of 2 million users.

Answer: B

Explanation:
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When there are huge surges in demand, it is preferable to use serverless technologies that automatically scale on demand. In this case, the key concern is data

ingestion. Pub/Sub is a serverless system that can expand to absorb such demand.

NEW QUESTION 101
- (Exam Topic 2)

Which of these are defined by the following statement: a contract you have with your end custom-ers, which, if you don't meet, you might even have to pay fines?

A. SLA - Service Level Agreement
B. SLC - Service Level Contract
C. SLO - Service Level Objective
D. SLI - Service Level Indicator

Answer: A

Explanation:
Service-Level Agreement (SLA)

At Google, we distinguish between an 5LO and a Service-Level Agreement (SLA). An
SLA normally involves a promise to someone using your service that its availability SLO
should meet a certain level over a cartain period. and if it fails to do so then some Kind
of penalty will be paid. This might be a partial refund of the service subscription fee
paid by customers for that period. or additional subscription time added for free. The
concept is that going out of SLO is going to hurt the service team, so they will push
hard to stay within SLO. If you're charging your customers money, you will probably

need an SLA,

Because of this, and because of the principle that availability shauldn t be much better
than the 5LO. the availability SLO in the SLA is normally a looser objective than the
internal availability SLO. This might be expressed in availability numbers: for instance,
an availability SLO of 99.9% over one manth, with an internal availability SLO of $9.95%.
Alternatively, the SLA might only specify a subset of the metrics that make up the

internal SLO.

https://cloud.google.com/blog/products/devops-sre/sre-fundamentals-slis-slas-and-slos

NEW QUESTION 106
- (Exam Topic 2)
What characteristics should an organization adopt to be a DevOps organization?

A. Teamwork over individual work

B. Obsession with Automation over preoccupation with manual work
C. Product based teams over component teams.

D. All of the Above

Answer: D

Explanation:
What charactenstics should an organization adopt to be a DevOps organization?
Below are my top 5 characteristics of a DevOps organization.

« Product based teams over component teams

Obsession with Automation over preoccupation with manual work
Evidence-based over gut feel

Teamwork over individual work

Fail fast over delayed learning

NEW QUESTION 110
- (Exam Topic 2)

You are a DevOps Engineer in an E-commerce company that sells products globally, across the countries, Customers buy products, add them to carts or check-in
stock from different parts of the world with different timestamps, you need to choose a database that can scale globally without any hassle and lots of developer
support, it should be consistent across regions, can scale horizontally to support enormous user, automatically replicates, shards and even auto transaction pro-

cessing. Which of the following database do you choose?

A. Cloud SQL

B. Cloud Spanner
C. Cloud Firestore.
D. Cloud Storage.
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Answer: B
Explanation:

Cloud Spanner:

Fully managed relational database with unlimited scale, strong consistency, and up to 99.999% availability.

- Get all the benefits of relational semantics and SQL with unlimited scale

- Start at any size and scale with no limits as your needs grow

- Enjoy high availability with zero scheduled downtime and online schema changes

- Deliver high-performance transactions with strong consistency across regions and continents

- Focus on innovation, eliminating manual tasks with capabilities like automatic sharding

Automatic sharding

Cloud Spanner optimizes performance by automatically sharding the data based on request load and size of the data. As a result, you can spend less time
worrying about how to scale your database and instead focus on scaling your business.

Strong transactional consistency

Purpose-built for external, strong, global transactional consistency.

Regional and multi-regional configurations

No matter where your users may be, apps backed by Cloud Spanner can read and write up-to-date strongly consistent data globally Additionally, when running a
multi-region instance, your database is able to survive a regional failure, and offers industry-leading 99.999% availability.

Online schema changes with no downtime

Cloud Spanner users can make a schema change, whether it's adding a column or adding an index while serving traffic with zero downtime. Hence you now have
the flexibility to adapt your database to your business needs without compromising on the availability of your application.

NEW QUESTION 114
- (Exam Topic 2)
What service is a fully managed real-time messaging service that allows you to send and receive messages between independent applications.

A. Cloud Datastore
B. Cloud Pub/Sub

C. Cloud DNS

D. Cloud BigTable

E. Cloud Spanner

Answer: B

Explanation:

Google Cloud Pub/Sub is a scalable, durable event ingestion and delivery system.

-> Pub/Sub allows services to communicate asynchronously, with latencies on the order of 100 milliseconds.

-> Pub/Sub is used for streaming analytics and data integration pipelines to ingest and distribute data. It is equally effective as messaging-oriented middleware for
service integration or as a queue to parallelize tasks.

-> Pub/Sub enables you to create systems of event producers and consumers, called publishers and subscribers. Publishers communicate with subscribers
asynchronously by broadcasting events, rather than by synchronous remote procedure calls (RPCs).

Reference link- https://cloud.google.com/pubsub/docs/overview

NEW QUESTION 118

- (Exam Topic 2)

You have deployed a new public web application that allows users to register and login with email ids, phone numbers, or user ids. You are seeing some unusual
activity with user registrations and logins from a few IPs. A large number of accounts were created very quickly. Logins are also hap-pening quickly thereafter from
these new accounts. Different parts of the application are being ex-plored, all of which are putting a heavy load on the application. What could be a problem and
how can you solve it?

. A hacker group has hired a bunch of people to create accounts and manually use the syste
. Use Cloud Asset Inventory to see if there have been changes in the inventory.

. Bots are creating accounts and then using the

. Use Google Cloud's Web App and API Protection (WAAP).

Bots are creating accounts and then using the

. Use Identity-Aware Proxy to re-strict the users to known users.

. Automated testing tools might still be running and creating account

. Use Identity-Aware Proxy to restrict the users to known users.

IO@MMmMoOOWm>

Answer: B

Explanation:

Bots attacking the application is the most likely scenario in this case. Using WAAP is the right protection plan: Anti-DDoS, anti-bot, WAF, and API protection help
you protect against new and existing threats while helping you keep your apps and APIs compliant and continuously available.
https://cloud.google.com/solutions/web-app-and-api-protection

NEW QUESTION 119
- (Exam Topic 2)
You are looking for a one stop reference page for GCP support. What Page would you se-lect?

A. Compliance Hub

B. Google Cloud Platform Status
C. Support Hub

D. Pricing Page

Answer: C

Explanation:
Google provides a page that brings together everything needed around support. Its called the Support Hub
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Reference link- https://cloud.google.com/support-hub

NEW QUESTION 123

- (Exam Topic 2)

A customer of yours has an SLA with their client that a particular service will respond within 4 sec-onds. The end client has reported that it feels slower. Your
engineers do a trial at the client site and notice that there seems to be a delay for many of the requests. It's your team's responsibility to iden-tify the issue quickly
within the strict timeline for fixes according to the contract, and then fix it. What should you do?

A. Recommend a move to serverless technologies which will scale automatically on demand.

B. Add logging statements at multiple points in the application, build it, and deploy i

C. Now new requests will give us information on latency in the logs.

D. Check if the browsers used by the client are different from your

E. If they are, that's most likely the issue.Ensure that everybody uses the latest version of the browser that you are also using.
F. Use Cloud Trace to collect latency data and track how requests propagate and why there is a delay.

Answer: D

Explanation:

Cloud Trace is a built-in tool in the Operations suite to identify issues like latency.

-> Such fixes are unlikely to change core issues like the service itself being architected or written

sub-optimally. Though changes like browser, networking, etc. are helpful, it would be the wrong approach to first recommend that the customer upgrade all their
hardware and software.

-> Rewriting code and logging information is going to be time consuming. In general though, logging should always be included in code and it can give good
insights. But tracing is way more specific and comprehensive for this requirement.

-> In certain cases, we might identify scaling as the issue. But we should first identify the core problem. So, start with tracing. We can also achieve scale in server-
ful technologies.

Reference link- https://cloud.google.com/trace

NEW QUESTION 128

- (Exam Topic 2)

In discussions with a prospective customer who wants to move to Google Cloud to make use of the latest, scalable technologies available therein, you learn that
there are very strict regulations concern-ing the storage of data. They only have the approval to store it in their current private data cen-ter. What would you advise
them?

A. Retain on-premise itself those portions of data and compute which are under regulatio

B. Take advantage of all the other cloud capabilities for remaining work-loads.

C. Itis too risky to touch anything in such a scenari

D. It is best to remain entirely on-premise.

E. Regulations are guideline

F. As long as the data remains encrypted, you can move it anywhere.

G. Petition the government for changes to such regulations as all industries are mov-ing to the public cloud.Then, when the regulations are eased, move to Google
Cloud.

Answer: A

Explanation:
Moving to Google Cloud is not an all-or-nothing option. Certain workloads can continue to remain on-premise while the predominant chunk moves to Google Cloud

NEW QUESTION 132

- (Exam Topic 2)

In Google Cloud IAM: if a policy applied at the project level gives you Owner permissions, your access to an individual resource in that project might be restricted
to View permission if someone applies a more restrictive policy directly to that resource. What is correct below the options

A. False

B. None of the above.
C. True

D. Not defined by GCP.

Answer: A

Explanation:

Policies are a union of those applied to resources themselves and those inherited from higher levels in the hierarchy. If a parent policy is less restrictive, it
overrides a more restrictive policy applied to the resource. If a parent policy is more restrictive, it does not override a less restrictive policy applied to the resource.
Therefore, access granted at a higher level in the hierarchy cannot be taken away by policies applied at a lower level in the hierarchy.

NEW QUESTION 134

- (Exam Topic 2)

An application has become very popular and the number of requests/users is increasing quickly. There is a meeting to figure out how to scale the systems so that
they can accept user requests and still have the capacity to spare. What is the preferred option?

A. Circular Scaling takes a round-robin approach to allocate and destroy VMs.
B. Triangular Scaling takes an automated average of Cost, Effort, and Time.
C. Vertical Scaling

D. Horizontal Scaling

Answer: D

Explanation:
Horizontal scaling, also called scaling out, adds new VMs to increase application capacity.
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NEW QUESTION 136

- (Exam Topic 2)

If you increase the size of a subnet in a custom VPC network, the IP addresses of virtual machines already on that subnet might be affected. Which options are
Correct.

A. False

B. None of the above

C. True

D. Not Defined by Google Cloud Platform

Answer: A

Explanation:
You can dynamically increase the size of a subnet in a custom network by expanding the range of IP addresses allocated to it. Doing that doesn't affect already
configured VMs.

NEW QUESTION 138

- (Exam Topic 2)

Your client is a financial services company giving loans based on customer profiles. As part of the regulatory compliance, they have to collect a bunch of different
documents with know your cus-tomer (KYC) information. They want to be able to process the information in these documents quickly and at scale. They want to
integrate the chosen solution as quickly as possible. What are your options on Google Cloud?

A. Integrate the Cloud Vision API to create a custom model to handle the documents.

B. Create a model using TensorFlow and integrated it into the process workflow.

C. Integrate the Lending DocAl and Document Al in two there processes workflow of the processing loan requests.
D. Integrate the Natural Language API to read the request sent in by clients and to process the forms.

Answer: C

Explanation:

Lending DocAl is a pre-packaged Al solution that speeds "up the mortgage workflow processes to easily process loans and automate document data capture,
while ensuring the accuracy and breadth of different documents (e.g., tax statements and asset documents).”
https://cloud.google.com/solutions/lending-doc-ai

NEW QUESTION 140
- (Exam Topic 2)
What is a key difference between VMs and containers?

A. Virtual Machines take less time to launch; containers take longer to launch.

B. Virtual Machines can only run Linux; containers can run any operating system.

C. Virtual Machines use a shared operating system and are therefore lighter; containers are heavier on resources.

D. Each Virtual Machine in a machine has its own operating system; containers will share the same operating system.

Answer: D

Explanation:
VMs have their individual OSs. All containers on a node use the host operating system.

NEW QUESTION 145

- (Exam Topic 2)

DriveSuper Inc. teaches its clients to drive cars and bikes and helps them get their license. They are planning to build a mobile application where users can sign
up, plan their schedules, and take stock of progress. They want the onboarding process to be smooth and frictionless, giving users a great experience from the get-
go. They want this done as quickly as possible and not be expensive. What is their best option on Google Cloud?

A. Build the mobile app with Cloud SQL as the backend

B. Build the mobile app with Cloud Storage as the backend
C. Build the mobile application with Firebase as the backend
D. Build the mobile app with Cloud Spanner as the backend

Answer: C

Explanation:
Firebase/Firestore is easy to build and is suitable for user information that could bvary in nature.

NEW QUESTION 146

- (Exam Topic 2)

A Customer has their current SAP systems using Microsoft SQL Server as the Database. They are migrating to Google Cloud and also preparing to later migrate
to the latest ver-sion of SAP. The entire IT team is being directed to focus on the migration to the new ver-sion of SAP. The new version of SAP does not use
Microsoft SQL Server as the Database, Any but the most critical IT management tasks are being deprioritized, How should they migrate their current database to
Google Cloud?

A. Spanner
B. Bare Metal
C. BigQuery
D. Cloud SQL

Answer: D
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Explanation:
Cloud SQL supports SQL Server, Since the IT team's attention is being focused on other activities, they will have less time for existing admin tasks, It would be
best to take a managed/hosted version.

NEW QUESTION 151

- (Exam Topic 2)

You are working with a government agency. A web application serves users of the country. It al-lows citizens to receive certain services in providing their national
identity. Citizens have com-plained that they are seeing delays in web page loading compared to before. On investigating, they are seeing a lot of spurious traffic
coming in from a few IPs which they have identified as for-eign. What should they do?

A. Setup Firewall rules to deny access to the malicious IPs.

B. Setup Cloud Armor and add the malicious IPs to the deny list.

C. Setup Firewall rules to allow access only to the IPs from within the country.

D. Setup Cloud NAT and remove all the internal IPs and replace it with a single public IP.

Answer: B

Explanation:
Cloud Armor provides DDoS protection for applications. It can also "Filter your incoming traffic based on IPv4 and IPv6 addresses or CIDRs. Enforce geography-
based access controls to allow or deny traffic based on source geo using Google’s geolP mapping."

NEW QUESTION 153
- (Exam Topic 2)
Which of the followings are core components of Anthos?

A. Infrastructure, container, and cluster management
B. Secure software supply chain

C. Multicluster & Configuration management

D. All of the above are correct.

Answer: D

Explanation:
Table Description automatically generated

Core Anthos )
Google Cloud On-premises Multi-cloud Attached clusters

NEW QUESTION 156
- (Exam Topic 2)
What cloud service model would you want to select if you want to solve a particular busi-ness problem by providing CRM services in the cloud to your enterprises?

A. CaaS
B. SaaS
C. PaaS
D. laaS
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Answer: B

Explanation:

SaaS — Software as a Service (SaaS) provides you a complete product that is run and managed by the service provider. You worry only about using the software
and not about infrastructure.

SaaS provides the lowest level of flexibility and management control over the infrastructure. (Example: Google Gsuite and MS O365)

NEW QUESTION 160

- (Exam Topic 2)

You are working for a hospital that stores its medical images in an on-premises data room and it is provided that the hospitals want to use Cloud Storage for
archival storage of these images. You are required to design and implement a solution where the hospital wants an automated process to up-load any new medical
images to Cloud Storage. On the basis of this statements which of the follow-ing statement is correct.

A. Create a Pub/Sub topic, and enable a Cloud Storage trigger for the Pub/Sub topi

B. Create an application that sends all medical images to the Pub/Sub topic.

C. Create a script that uses the gsutil command line interface to synchronize the on-premises storage with Cloud Storag

D. Schedule the script as a cron job.

E. In the Cloud Console, go to Cloud Storag

F. Upload the relevant images to the ap-propriate bucket.

G. Deploy a Dataflow job from the batch template, “Datastore to Cloud Storage” Schedule the batch job on the desired interval.

Answer: B

Explanation:
Using sync for new images implies that you will continue to use your onprem and keep synchronizing it forever, Sync just once for the old images, new images go
directly to google cloud via pub/sub, and eventually get rid of the onprem.

NEW QUESTION 163

- (Exam Topic 2)

Cloud SQL is a fully-managed relational database service for MySQL, PostgreSQL and SQL serv-ers, keeping Cloud SQL Google Cloud Service in mind, which of
the following statements is/are correct?

A. Data inside cloud SQL is automatically Encrypted.

B. Cloud SQL automatically ensures your databases are reliable, secure, and scala-ble so that your business continues to run without disruption.
C. With DMS (Database Migration Service) it becomes very easy to Migration of Pro-duction Database.

D. All of the above

Answer: D

Explanation:

Cloud SQL

Fully managed relational database service for MySQL, PostgreSQL, and SQL Server. Run the exact same relational databases you know with their rich extension
collections, configuration flags and developer ecosystem, but without the hassle of self management.

- Reduce maintenance cost with fully managed MySQL, PostgreSQL and SQL Server databases.

- Ensure business continuity with reliable and secure services backed by 24/7 SRE team.

- Automate database provisioning, storage capacity management, and other time-consuming tasks.

- Database observability made easy for developers with Cloud SQL Insights.

- Easy integration with existing apps and Google Cloud services like GKE and BigQuery. Key features:

Fully managed

Cloud SQL automatically ensures your databases are

reliable, secure, and scalable so that your business

continues to run without disruption. Cloud SQL automates all your backups, replication, encryption patches, and capacity increases—while ensuring greater than
99.95% availability, anywhere in the world.

Integrated

Access Cloud SQL instances from just about any application. Easily connect from App Engine, Compute Engine, Google Kubernetes Engine, and your
workstation. Open up analytics possibilities by using BigQuery to directly query your Cloud SQL databases.

Reliable

Easily configure replication and backups to protect your data. Go further by enabling automatic failover to make your database highly available. Your data is
automatically encrypted, and Cloud SQL is SSAE 16, ISO 27001, and PCI DSS compliant and supports HIPAA compliance.

Easy migrations to Cloud SQL

Database Migration Service (DMS) makes it easy to migrate your production databases to Cloud SQL with minimal downtime. This serverless offering eliminates
the manual hassle of provisioning, managing, and monitoring migration-specific resources. DMS leverages the native replication capabilities

of MySQL and PostgreSQL to maximize the fidelity and reliability of your migration. And it's available additional charge for native like-to-like migrations to Cloud
SQL.

NEW QUESTION 168
- (Exam Topic 2)
Firebase Hosting provides the following services

A. Dynamic content
B. Static content.
C. Microservices.
D. All of the Above.

Answer: D
Explanation:
Firebase Hosting- Firebase Hosting provides fast and secure hosting for your web app, static and dynamic content, and microservices.

Firebase Hosting is production-grade web content hosting for developers. With a single command, you can quickly deploy web apps and serve both static and
dynamic content to a global CDN (content delivery network). You can also pair Firebase Hosting with Cloud Functions or Cloud Run to build and host
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microservices on Firebase.

Key capabilities of Firebase Hosting:

Serve content over a secure connection:- The modern web is secure. Zero-configuration SSL is built into Firebase Hosting, so content is always delivered
securely.

Host static and dynamic content plus microservices:- Firebase Hosting supports all kinds of content for hosting, from your CSS and HTML files to your Express.js
microservices or APIs.

Deliver content fast: Each file that you upload is cached on SSDs at CDN edges around the world and served as gzip or Brotli. We auto-select the best
compression method for your content. No matter where your users are, the content is delivered fast.

NEW QUESTION 169
- (Exam Topic 2)
In terms of Cloud SQL for MySQL Features offered by Google Cloud Platform which of the statements is/are correct?

A. Do not support Private IP (private service access).

B. Customer data is encrypted on Google's internal networks and in database tables, temporary files, and backups.
C. Do not Provide automated and on-demand backups and point-in-time recovery.

D. None of the above

Answer: B

Explanation:

Cloud SQL for MySQL.:

Features

- Fully managed MySQL Community Edition databases in the cloud.

- Cloud SQL instances support MySQL 8.0, 5.7 (default), and 5.6, and provide up to 624 GB of RAM and 64 TB of data storage, with the option to automatically
increase the storage size, as needed.

- Create and manage instances in the Google Cloud Console.

- Instances are available in the Americas, EU, Asia, and Australia.

- Customer data is encrypted on Google's internal networks and in database tables, temporary files, and backups.
- Support for secure external connections with the Cloud SQL Auth proxy or with the SSL/TLS protocol.

- Support for private IP (private services access).

- Data replication between multiple zones with automatic failover.

- Import and export databases using mysgldump, or import and export CSV files.

- Support for MySQL wire protocol and standard MySQL connectors.

- Automated and on-demand backups and point-in-time recovery.

- Instance cloning.

- Integration with Google Cloud's operations suite logging and monitoring.

NEW QUESTION 174
- (Exam Topic 2)
What type of cloud computing service provides raw compute, storage, and network, organized in ways that are familiar to physical data centers?

A. Database as a Service.

B. Platform as a Service.

C. Infrastructure as a Service.
D. Software as a Service.

Answer: C

Explanation:

What is Infrastructure as a service :

laaS (infrastructure as a service) is a computing model that offers resources on-demand to businesses and individuals via the cloud.

laasS is attractive because acquiring computing resources to run applications or store data the traditional way requires time and capital. Enterprises must purchase
equipment through procurement processes that can take months. They must invest in physical spaces: typically specialized rooms with power and cooling. And
after deploying the systems, enterprises need IT, professionals, to manage them.

All this is challenging to scale when demand spikes or the business grows. Enterprises risk running out of capacity or overbuilding and ending up with
infrastructure that suffers from low utilization.

These challenges are why laaS use is steadily growing. Learn more about Compute Engine, Cloud Storage, etc.

NEW QUESTION 176

- (Exam Topic 3)

An organization is altering their gaming product so that it is compatible with cloud technology. What can they expect when moving from traditional technology to
cloud technology?

A. No change to existing responsibilities
B. A shift toward OpEx

C. A shift toward using structured data
D. Increased hardware maintenance

Answer: B

NEW QUESTION 180
- (Exam Topic 3)
How would a global organization benefit from managing their data with Cloud Spanner?

A. Cloud Spanner is optimized for cold storage

B. Cloud Spanner replicates data across regions in real time
C. Cloud Spanner is optimized to ingest unstructured data
D. Cloud Spanner visualizes and analyzes data in real time
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Answer: B

Explanation:
Spanner is Google's scalable, multi-version, globally-distributed, and synchronously-replicated database.

NEW QUESTION 184
- (Exam Topic 3)
An organization's public cloud provider failed to meet their SLA of 99.99% availability. What is the potential impact on the organization?

A. The organization risks using up their error budget.

B. Renegotiation of the SLA to put less emphasis on uptime could be necessary.
C. Unexpected downtime could risk the loss of customers.

D. All data stored in their database could be unexpectedly lost.

Answer: C

NEW QUESTION 187
- (Exam Topic 3)
How does Google Cloud ensure that customer data remains secure and private when at rest?

A. By aggregating training data for customers within each industry
B. By automatically locking files containing suspicious code

C. By auditing platform privacy practices against industry standards
D. By providing privacy reviews for critical customer applications

Answer: C

Explanation:

Google Cloud commitment to keep the data secure and private:

* 1. Org owns the data and not Google

* 2. Google does not sell data to 3rd parties

* 3. All customer data is encrypted by default

* 4, Google Cloud guards insider against your data

* 5. No backdoor access to any govt. entity

* 6. Google’s privacy practices are audited against international standards

NEW QUESTION 188

- (Exam Topic 3)

An organization has servers running mission-critical workloads on-premises around the world. They want to modernize their infrastructure with a multi-cloud
architecture.

What benefit could the organization experience?

A. Ability to disable regional network connectivity during cyber attacks
B. Ability to keep backups of their data on-premises in case of failure
C. Full management access to their regional infrastructure

D. Reduced likelihood of system failure during high demand events

Answer: D

NEW QUESTION 190

- (Exam Topic 3)

An organization wants to search hundreds of scanned documents for key information like dates, names, and other specific words.
Why should the organization use application programming interfaces (APIs)?

A. To replace the scanned documents with an online survey

B. To ingest data in real time and encrypt unmatched words

C. To create digital versions of the documents and locate key information
D. To transform the documents into unstructured data.

Answer: C

NEW QUESTION 193
- (Exam Topic 3)
An organization wants to build an entirely new infrastructure and applications in the cloud. Which application modernization approach should the organization use?

A. Move the application to the cloud, and then change it.
B. Change their application, and then move it to the cloud.
C. Invent in greenfield.

D. Invent in brownfield.

Answer: C

Explanation:

A Greenfield approach is a brand-new implementation , where companies then add their needed configurations and customizations. This approach provides a
clean slate to start from, does not carry over needless customizations and technical debt, and provides a solid foundation for business process re-engineering.

A greenfield deployment is the design, installation and configuration of computer infrastructure where none existed before, for example, in a new office. In contrast,
a brownfield deployment is an upgrade or addition to existing infrastructure using legacy components.
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NEW QUESTION 197
- (Exam Topic 3)

An organization needs to categorize a large group of photographs using pre-trained machine learning. Which Google Cloud product or service should the

organization use?

A. Vision API

B. BigQuery ML
C. AutoML Vision
D. Looker

Answer: A
Explanation:

https://cloud.google.com/vision

NEW QUESTION 199
- (Exam Topic 3)

An organization wants its users to validate a series of new features for their app. Why should they use App Engine?

A. Because their app is containerized and enabled by microservices
B. Because the updated app will only include new features

C. To run different versions of the app for different users

D. To run different versions of the app for the same user

Answer: C

NEW QUESTION 200
- (Exam Topic 3)
How does Cloud SQL help organizations create business insights?

A. Integrates with business intelligence and analytics platforms
B. Generates predictions using machine learning models

C. Generates real-time charts and intelligent analytics

D. Transforms business data from unstructured to structured

Answer: A
Explanation:

https://cloud.google.com/sqgl/docs/postgres/using-query-insights

NEW QUESTION 204
- (Exam Topic 3)
Why is data stored in Google Cloud secure and private?

A. Data is encrypted by the Security Command Center
B. Data is encrypted by Cloud Data Loss Prevention

C. Data is encrypted by default

D. Data is encrypted when an appropriate tag is applied

Answer: C

Explanation:

https://cloud.google.com/docs/security/encryption/default-encryption#:~:text=Google%20uses%20the%20Adva

NEW QUESTION 205
- (Exam Topic 3)

Why do organizations often struggle to scale their on-premises application infrastructure?

A. Scaling compute instances could breach compliance and/or regulation

B. Increasing compute capacity is time-consuming and costly
C. Their serverless compute functions struggle to meet the demand
D. Their multi-cloud architecture is complex and expensive

Answer: B

NEW QUESTION 210
- (Exam Topic 3)

What is an example of structured data that a healthcare facility stores in their system?

A. X-ray images

B. Surgery video recordings
C. Blood pressure history
D. Physician-written notes

Answer: C
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Explanation:

Physical measures like height, weight, blood pressure, blood type, and stage of the disease can be recorded numerically and they are structured.

NEW QUESTION 215
- (Exam Topic 3)

An organization wants to move from a tactical cloud adoption approach to a transformational approach. How should they adapt the way they lead the organization?

A. Increase top-down visibility and foster a culture of blamelessness

B. Shift from an operational expenditure model to capital expenditure

C. Drive cloud adoption with an individual contributor focus

D. Invest in on-premises infrastructure to redesign relationships between IT and employees

Answer: A
NEW QUESTION 219
- (Exam Topic 3)

An organization wants to upskill their IT staff. How can they do this in a transformational way?

A. Prioritize training current employees instead of hiring new recruits with cloud experience.

B. Prioritize giving privileged access to third-party partners and contractors to fill IT knowledge gaps.

C. Create a culture of self-motivated, isolated learning with official training materials.
D. Create a culture of continuous peer-to-peer learning with official training materials.

Answer: D

NEW QUESTION 222
- (Exam Topic 3)

An organization provides a loyalty program for its customers. It recently partnered with other businesses so that customers can get loyalty points at a range of

other stores.
Why should the organization use application programming interfaces (APIs)?

A. To migrate all partner data for disaster recovery

B. To analyze and publish loyalty program statistics to a dashboard
C. To personalize recommendations for loyalty card users

D. To connect third-party systems to ensure up-to-date information

Answer: D

NEW QUESTION 223
- (Exam Topic 3)
How can a streaming service meet global compliance requirements using the cloud?

A. By automatically encrypting personally identifiable information

B. By obtaining a business license to operate in a new market

C. By allowing users to disable two-factor authentication

D. By adhering only to data polices of the country in which the head office is registered

Answer: A

NEW QUESTION 226
- (Exam Topic 3)

An organization is moving away from an on-premises infrastructure. Instead, they want to create, access, and share information virtually in the cloud.

What should the organization consider?

A. Built-in security when moving their data to the cloud

B. Replacing their perimeter security with data encryption keys

C. Optimizing cost-management with a capital expenditure model

D. Increased hardware capacity when moving their data to the cloud

Answer: A

NEW QUESTION 227

- (Exam Topic 3)

An e-commerce organization is reviewing their cloud data storage.

What type of raw data can they store in a relational database without any processing?

A. Product inventory

B. Product photographs
C. Instructional videos
D. Customer chat history

Answer: A

NEW QUESTION 232
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